163
192
175
204

110,5
110,5

22
55
47
M8
19
36

187
216
199
238
134,5
134,5
22
556
47
M8
19
36

68,5

130

L Without Brake with feedback A2~ mim 147 147 147 187 147 163
L With Brake with feedback A2 mm 176 176 176 216 176 192
L Without Brake with feedback A1/E1/A6  mm 159 159 159 199 169 175
L With Brake with feedback A1/E1/A6  mm 188 188 188 228 188 204
Z Without Brake mm 94,5 94,5 94,5 134,5 94,5 110,5
Z With Brake mm 94,5 94,5 94,5 134,5 94,5 110,5
D mm 22 22 22 19 22 22
A mm 55 55 55 48 55 55
C mm 47 47 47 40 47 47
M mm M8 M8 M8 M6 M8 M8
N mm 19 19 19 16 19 19
F mm 36 36 36 25 36 36
W mm 8 8 6 8 8
T mm 7 7 6 7 7
V mm 8 8 6 8 8
R mm 18 18 18 15,5 18 18
C2 connection with oil seal option
EE——
@ POWER C_N R (Y7 SIGNAL CN
BEDC 110 4+4pin Of°, AEDC 139 17pin
Red plastic 11,56
8
5 a Alooat—
al(©) ©) | |
: 3 |
= |
S| 2 B 21: =3- - -
e STy
T —
©|p 01| A )—
M4 x8 6.
und connection ground label A L
Llo.[A] -
B ?\;gr:rgeg plane
UNI 6604-A-B —
Dhe VNe W ho
Detail A
smooth slot key key
SEE IT BEFORE IT HAPPENS
MOTOR
POWER 38

COMPANY

connector mounting
reference




f
IV

: 305A TC-E1305B TC-E 130 5 TC-E 130 5D TC-E | .

L Without Brake with feedback A2~ mm 147 147 147 187 147 163 163 187
L With Brake with feedback A2 mm 176 176 176 216 176 192 192 216
L Without Brake with feedback A1/E1/A6  mm 159 159 159 199 169 175 175 199
L With Brake with feedback A1/E1/A6  mm) 188 188 188 228 188 204 204 238
Z Without Brake mm 94,5 94,5 94,5 134,5 94,5 110,5 110,5 134,5
Z With Brake mm 94,5 94,5 94,5 134,5 94,5 110,5 110,5 134,5
D mm 22 22 22 19 22 22 22 22
A mm 55 55 55 48 55 55 55 55
C mm 47 47 47 40 47 47 47 47
M mm M8 M8 M8 M6 M8 M8 M8 M8
N mm 19 19 19 16 19 19 19 19
F mm 36 36 36 25 36 36 36 36
W mm
T mm
Vv mm
R mm 18 18 18 15,5 18 18 18 18

C2 connection without oil seal option

POWER CN o SIGNAL CN
BEDC 110 4+4pin Qp AEDC 139 17pin
Red plastic 11.5 T :Z
cover LUJ ©
[o.04] £
|| 37,5 ]
C
F 67,5
= |
< o
ol < —
s STy
M4 x8 6|
ground connection ground label A L
?10x0,2
machined plane
UNI 6604-A-B —
. Dh VN9
Detail A
=
smooth slot key key

connector mounting
reference

SEE IT BEFORE IT HAPPENS

MOTOR
39 POWER

COMPANY



TC-E1305A TC-E1305B TC-E1305C TC-E 13050 TC-E i

L Without Brake with feedback A2~ mm 147 147 147 187 147 163 163 187
L With Brake with feedback A2 mm 176 176 176 216 176 192 192 216
L Without Brake with feedback A1/E1/A6  mm 159 159 159 199 169 175 175 199
L With Brake with feedback A1/E1/A6  mm) 188 188 188 228 188 204 204 238
Z Without Brake mm 94,5 94,5 94,5 134,5 94,5 110,5 110,5 134,5
Z With Brake mm 94,5 94,5 94,5 134,5 94,5 110,5 110,5 134,5

D mm 22 22 22 19 22 22 22 22

A mm 55 55 55 48 55 55 55 55

C mm 47 47 47 40 47 47 47 47

M mm M8 M8 M8 M6 M8 M8 M8 M8

N mm 19 19 19 16 19 19 19 19

F mm 36 36 36 25 36 36 36 36

W mm 8 8 8 6 8

T mm

Vv mm

R mm 18 18 18 15,5 18 18 18 18

C3 connection with oil seal option

z _——POWER CONN.
) DL3102A-20-15P
Red plastic 11,5 SIGNAL CONN. ©
cover 8l 97.3102A.20-29P.955.5P <
/0.04
| 375 —
C 20
F 68 — :u
S a—

o -E‘ s - - . 2
pui = e o 2

s S N Y |

A
‘ Olg o1]a}—
»6‘
A L
M4 x8 —— [LoA[A}— UNI 6604-A-B—
ground connection \ / ground label Dh W h9
V N9
B10X02
machined plane =
> § ©)
smooth slot key key
Det. A with A1 feedback = L+12mm

SEE IT BEFORE IT HAPPENS

MOTOR
POWER 40

COMPANY



: 3054 TC-E1305B TC-E 130 5¢ TC-E 130 5D TC-E :

L Without Brake with feedback A2~ mm 147 147 147 187 147 163 163 187
L With Brake with feedback A2 mm 176 176 176 216 176 192 192 216
L Without Brake with feedback A1/E1/A6  mm 159 159 159 199 169 175 175 199
L With Brake with feedback A1/E1/A6  mm 188 188 188 228 188 204 204 238
Z Without Brake mm 94,5 94,5 94,5 1345 94,5 110,5 110,5 134,5
Z With Brake mm 94,5 94,5 94,5 134,5 94,5 110,5 110,5 134,5
D mm 22 22 22 19 22 22 22 22
A mm 55 55 55 48 55 55 55 55
C mm 47 47 47 40 47 47 47 47
M mm M8 M8 M8 M6 M8 M8 M8 M8
N mm 19 19 19 16 19 19 19 19
F mm 36 36 36 25 36 36 36 36
W mm 8 8 6 8 8 8 8
T mm 7 7 6 7 7 7 7
V mm 8 8 8
R mm 18 18 18 15,5 18 18 18 18
C3 connection without oil seal option
POWER CONN.
/ DL3102A-20-15P 7
Rad plastic e §7 3102A20.25P.955.5P ﬁ g
[]o.04 |
] 37,5 |
| c | 20| B
b F 68 — v
O —
L BT - g
s STy L
—
| \
[Olg 0.1]A]
A L
M4 x8 [L]o1]A] UNI 6604-A-B —
ground connection ground label bh vNo W he
@10x0,2
machined plane =
smooth slot key key

41

SEE IT BEFORE IT HAPPENS

MOTOR
POWER

COMPANY



